
 



 

    Next look at other options in the provisional list and cross out the options 

that: 

 Perfectly fit the scenario like the option with asterisk, as they are also best 

options.  

 Are obviously incorrect for the given scenario, as no one is likely to opt for 

them. 

 Finally, reduce the option list to 5; keep 4 other options that sound plausible, 

but are less appropriate for the given scenario as compared to the option with 

asterisk (correct answer). 

 Transfer each MCQ developed to the MCQ Submission Form (Stage 2 form). 
 


